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& “Statistics may be rightly called the science of averages and their

estimates” —A.L.LBOWLEY & A.L. BODDINGTON ¢
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13.2 YU & WY (Measures of dispersion)
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ey fereror 61 € | 3Heh faadia afE =g =i =<1 © df Yeon o1 }ieq X o |rie foero

ﬁw%lwwwm%ﬁﬁwzm—f)z qfi Yero w1 Wiem X oh 9oe

YeRToT A1 Ta=or 1 HIY F1 T HaruSHe UdiE o7
ST 5ok ToIT ©: WeTunl 5, 15,25, 35,45, 551 Ueh TH=9a A o &1 7 Herl <1 |
30 B 3@ Y= H 9 famer & ol 1 A fefated 2

6
Z(xi —X)* = (5-30) + (15-30)+ (25-30)? + (35-30)+ (45-30)2+(55-30)?

= 625+ 225 +25 +25 + 225 + 625 = 1750
T 9 T=IA B o § fogeh 31 ver fEfafea €
15,16,17,18,19,20,21,22,23,24,25,26,27,28,29,30,31,32,33, 34, 35, 36,37,
38,39,40,41,42,43,44,45.
T YO 1 WA y =30 2l
Tl Tl Ade B & WeA 30 2
T=sa Bk Uil o fameri o ot &1 A frefafea 2
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31

Z (=) = (15302 +(16-30)2+ (17-30)% + ...+ (44-30)2+(45-30)"

(<150 H(14P+ ot (12 + 02+ 12+ 224 324+ + 142+ 15
2152+ 142+ .. + 17]

= 2X15x(15+61)(30+1) =5x%x16x%x31=2480
(FTeR Wem n Wiehd WEAISA o ol 1 AN = nn- H@n- 1 BT €, FWin=157%)

6

afx ) (%~ X)° & we 3w w1 A @ A en Fed % fer G A

o 31 JeToT oF W=ad BT, 6 Y&UN aTc WH=ad AT 3TU&T HIeA oF @ue A
TR0 & it Tead AW 6 U0 i "ieA x ok @i faewe (fomer 1 aier -25
¥ 25 ®) W=aa B i aden (faeemi &1 9Re -15 9 15 ) @i 21 9% == fau
g fesl @ o T R

eI A, o fore gq emepfa 13.5 U €

< . e e, S
N 0 5 10 15 20 25 30 35 40 45 50 55 60 -
e
3TTeRfT 13.5
=g B, & fau smefd 13.6 &9 W §
< >

0510152025?\1(,)354045505560
e

JTTRTA 13.6
3d: B9 HE Hohd © foh W1eA W Tl o ol o1 AN YU 1 SUFS WY el

1 & _
T HSTE B T FH % o 2 faaerdi & o me o aveiq & ;Z(x,-—xf.
o g A, % fU B9 UM €,



284 TfoTd

1
e :%x 1750 =291.6 % 3R H==4 B,asfwzagixmso:so%

T 3T el € Tor ggeaa A o = fa=ror ay=== B &1 erden st ® S <Al
gl o erdferd IRomm 9 senfafaa frewor 9 o @ 2l

1 _
aﬁ:%ﬂ;z(xi_x)zﬁslﬁﬂhﬁwwéﬁmﬁém%l?4%’14’@1

teiq A1es § faerei oh ol ol WIS WERT (variance) a8 3R o2 (fqmmn &1
ot Ugl Wl §) g9 2l
37d: n YeTon X, xz,...,xn?ﬂ ERSEU

o’ Z% i(xi _3_5)2 2

13.5.1 A17ek fa=rerT (Standard Deviation) T8I 1 UMD o & U ¥ fop =afema
TaUN x T x I TS WERUT 1 SR © e €, il T § (x—x ) % o
TAEYT €, SE RO GERO1 o eFTcHeh aTel shi Yerull okl Wit oh WIUel WehIvi i
Teiiferd |19 o &9 § oFed fohan S € iR 4 A foere wed 81 O fase &
HH=Id: o, 510 YERid feen Sar @ aun frefafed ger | femn s e

c = /l i(x;ff (1)
noa

3MEY, STefichd 3ifehgl 1 FEOT J HHE oo A1 & & oy $8 S
&d B
saretor 8 frefafed sfiewst o fou gewo qen qre fomem A@ sifs:
6,8, 10,12, 14, 16, 18,20, 22, 24
o fRu U sl i frfdiad ghR 9 wrolt 13.7 # for@ "end €1 W &l 0"
foerem fafer gR1 14 1 wfeua Area it @ fopan T 21 el w1 W@ 1 =102l
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|Rut 13.7
. d_:x,.—14 e 9 fome™ G E)
: ’ 2 (x—X) :
6 —4 -9 81
-3 —7 49
10 -2 -5 25
12 -1 -3 9
14 0 -1 1
16 1 1 1
18 2 3 9
20 3 5 25
2 4 7 49
24 5 9 81
5 330
zaferg, e X = Shicqd HIeA + i=1’1 xh
144 2x2-15
10
1 10 0 1
3R WcsZ:—Zl:(xi—X) = 15 X330= 33

;.  HEH fo=e 6 = /33 =5.74

13.5.2 Teh 39dd aRARAT deq & A o= (Standard deviation of a
discrete frequency distribution) AR & @1 T o18dq dea f=fafaa ?:

XX, Xy Xp,e ..

L O

, X

n

waﬁéﬁmwﬁw(;:\/ﬁiﬁ(@—f)% . (2)
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& N=Y.
i=1

afrsu f=fafea e |

saretor 9 frefafed efest o fou wewo o aFs faeem I SIS
x| 4| 8] 1|17 |2] 24| 32

1

Ll 3 s 9| 5| 4 3] 1
&1 3ffhel i WRUN o ®9 | faed W B frefafaa groft 13.8 9 et ©:

| 13.8

o f, fx | x-x| =0 f(x %)
4 3 12 -10 100 300
8 5 40 -6 36 180
11 9 99 -3 9 81
17 5 85 3 9 45
20 4 80 6 36 144
24 3 72 10 100 300
32 1 32 18 324 324

30 420 1374

7 7
N=30, 2. /% =420, Y f(x,~%)" =1374
i=1

i=1

7

" Zfixi 1
x=fl—=—x420=14
N 30
1 .,
¥ T (o7) = 3y LS T)

i=1
1 1374=45.8
= — X —
30 '

IR TEE e o = f45.8 =6.77
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13.5.3 Uah Gad ARARAT d2 ol AT (a=reiT (Standard deviation of a continuous
frequency distribution) ST T Had IRARAT deq o A M oF T HH Rl 39
FHAd IRARAl g | Tefud % Ghd &1 96 STHad aRardl s o fou 379 18 fafy
ERICECCECE IR ICRER IS IS ]

IS Teh p oM ATl SRR e s Jedieh S{auiel SHeh HEAAM x, 92 sRal
f, B ufefaq fohan w0 €, 9@ W famen frefafed g3 gm wra fwen smom:

o = \/§ VR

SRl x , de B WA T A N=)_ f,.

i=1

e faere o T o g ed 9. © T

=

(x "+ x°—-2X x
fz( 12 2 z)
i=1

1 1
TR (0%) = ST B =g

Co | Tt YR iﬁfm}
= i1 i1

=§ > fxl+ fzifi— 23_cixifl}
L i=l i=1 i=1

i=1
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1 n 2 n 2
3d: A foaed o = E\/NZﬁxi —(Zﬁxij .. 3)
FareToT 10 il se & fau Aes, g St A fa=eq i St
ot 30-40 40-50 50-60 60-70 70-80 80-90 90-100
AR 3 7 12 15 8 3 2
7o Ry T effepel W frAfefad aroft 13.9 <@ €
R 13.9
ot Frara | weE-fag | fx | (0-x )| fx—X )
(f) (x)
30-40 3 35 105 | 729 2187
40-50 7 45 315 | 289 2023
50-60 12 55 660 49 588
60-70 15 65 975 9 135
70-80 8 75 600 169 1352
80-90 3 85 255 | 529 1587
90-100 2 95 190 | 1089 2178
50 3100 10050
1 < 3100
o WA () = 2 = 62
i=1

1 ! —\2
T (o) = E;fi(xiﬁ)

1
= —x10050 =201
50

AR gEe faEed o= 201 = 14.18
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sareor 11 frefafad sisel & fau ame faues T wife:
x | 3 8| 13| 18| 23

1

f 7 10 15 | 10 6

To1 3W sfiwel o frfafad sreft 13.10 I 2
|t 13.10
x| fi | fx | xF| fx?
30 7| 21 91 63
8| 10 8 | 64| 640
13 | 15| 195 | 169 | 2535
18 | 10 | 180 | 324 | 3240
23 | 6| 138 | 529 | 3174
48 | 614 9652

o A (3) 3

o= ﬁ\/Nz:fixi2 _(Zﬁxi)z

I
- J48x9652 - (614)°

_ L /463296376996
48

1
= —x293.77 =
18 6.12
39feTe, HHeh foree 6 = 6.12

13.5.4. GGXUT & AT Tareret™ 71 i & for g fafer (Shortcut method to find
variance and standard deviation) FH-FHH Th TRARAT A Eole | X, SYa
fafer=1 ol o HeAmM x % W 9gd 9 B € e e YR 9 Bl Hed @
ST € T S HHE o §1 U aReRar sied, e onf-sfaver T =, o faw 1w
famer fafy g0 58 wfkan 1 T sH@ ST g )
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m@ﬂﬁqﬁﬁqﬁmww%aﬁ?wmﬁﬂﬁﬁ%w@amw%

(F&T hat S €)1 7 o fR 9% foeem a1 T <Ry ©

a1t y,:x";lA A x=A+hy (D)
>
& W ® T R . (2)
(1) @ x & (2) ¥ T W g5 W< &l ¢
o Zn:ﬁ(A+hyi)
X T
SO B EO A 78
n Jivi Fiifs -
- A.E+h’z=:1— ( lef ) N)
N N -
I1a: X=A+hy - (3)

1 & _
3T, R x T T, 0x2=§2fi(xi—x)2
i=1
1 & _
:EiZ:l:fi(A+hyi—A—hy)2 [(1)3ﬁ1(3) ]
1 & _
=§Zfih2(yi_J’)2
i=1
n

= FZfi 0 =P = =Ry T
i=1

a0 o= h(fy .. (4)
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(3) 3R (4), ¥ B9 It gian € T

2
h n n
o= E\/NZﬁyf —(me} - (5
i=1 i=1

BT 3T 11 o kSl § G (5) & STAN 51 oy fafr @ wrea, yeeor 9 9k
IEENEREIGRCT]
sarEtur 12 f=fafag de o fau g, o 9 7 fogeq I Sifsa:
ot 30-40 | 40-50 | 50-60 | 60-70| 70-80 | 80-90 [90-100

RS 3 7 12 15 8 3 2

e AM o Shiedd WA = 6521 T8 h=10
feu T stferel o frfafaa roft 13.11 9 et 2|

|roit 13.11
i aRIRd | AeA-feg | y= = 1_ 065 y’ 1y, fy?
J; X,

30-40 3 35 -3 9 -9 27
40-50 7 45 -2 4 — 14 28
50-60 12 55 ~1 1 ~-12 12
60-70 15 65 0 0 0 0
70-80 8 75 1 1 8
80-90 3 85 2 4 6 12
90-100 2 95 3 9 6 18

N=50 —15 105

><h=65—1—5><10=62
50

e f=A+Zsjgy"

2
g o2 = % {NZJ‘,-y,-2 - (Z )2}



292 TfoTd

2

[50x105—(—15)2}

1
= —[5250 - 225]=201
25

SIRAAF fa=ed o = 201 =14.18

| wrgererett 13.2 |

YT 1 G 5 d% o 3fihel o fol Wed o JEROT A1 hIfera)
1. 6,7,10,12,13,4,8,12
2. HWHWH@T&'
3. W9 o 9o 10 O

4. [x, T6 J10 147 18] 247 28 T30
2| 4 71 12 8| 4| 3
5o x 92 93 97] 98] 102] 104 [109
fil 3 2 3| 2 6 31 3
6. o9 fafy g/ wrea 9 uee fa=ed 9 St
x| 60| 61| 62 63| 64 65| 66| 67| 68
fil 2 1| 12129 25| 12 10 4 5
U9 7 9 8 H fSU U IRARAT seq o foU Hiem 9 gEor | i)
7. |=mt 0-30| 30-60{60-90 | 90-120 [ 120-150| 150-180 | 180-210
RS 2 3 5 10 3 5 2
8. | 0-10 10-20 | 20-30 | 30-40 | 40-50
RS 5 8 15 16 6
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9. oy fafy g/ wed, T 9 AEe fa=ed 9| St

AR | 70-75| 75-80|80-85 [ 85-90| 90-95 |95-100 [ 100-105[105-110{ 110-115
Gk
s=dl &I 3 4 7 71 15 9 6 6 3
e
10. T fessa o s U g6t & e (fadt ) 9 faw T R
= 33-36 | 3740 | 41-44 | 45-48 49-52
Exlikstel 15 17 21 22 25

Il oF Al H1 AFE faae G AeA A A1d it

[ Tehd Tee SAihel i Fad s &l ol Bl 32.5-36.5,36.5-40.5, 40.5-44.5,44.5 - 48.5,
48.5-52.5 3R TR ol & |

fafaer 3qrgyor

SETETOT 13 20 Yerull s FEROT 5 ©1 AfE Fsh UeroT 1 2 W Ton fapan e @ df W
TeToT ST JEROT 1T i)
T AE AT TET x,x, xS F IR WA T T R AR = 5 SR
n=20. T4 34 ¢ f&
120 0 1 20 0
T 00 == ) (% —X) ,31%5:2—0;(9@--36)

n i

20

e > (x,=%)" =100 (D)

i=1

I T F&OT BT 2 I feRe e, A ofem dam oy )

i=1 i=1 i=1
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x 3R x % "M (1) # wiqeenfod 9 R 6 W g 8
20 1 l_ﬁ 20 .,
.~ = =100 | (¥, —y) =400
2 p T3 TI00. s
37d: T Y&TT T FEROT :2—10><400=20=22 x5

@ omutt | UeE T 2 fR A g Be i &, @ O R ST, A S e
1 FEROT, I WEROT 1 2 1 Bl S €

SEETOT 14 UiF YN KT WIS 4.4 B QA1 SR THLUT 8.24 ¢ AT AT Yo 1, 2
A 6 €, q 3T & YT T I

T T I S U7 x qel y B

THferT, §@el 1,2, 6, x, y 2l
14+2+6+x+y
afd, WX =44 =
a 22=9+x+y

ESIGLY x+y=13 . (1)

12 _
e d oy =8.24=— p (%)’

i=1

aaf 8.24 =§ {3.4) +(24) +(16) +x" +)7 —2x44(x+y)+2x(44)'C

7 41.20=11.56+5.76 +2.56 + x> +1° ~8.8 x 13 + 38.72 -
zafay X2+ =97 . (2
wifen (1) 9, 89 9w gren @

X+ + 20 =169 . (3)
(2) 3R (3), ¥ BH W< B ®

2xy =172 .. (4)

)" ¥ (4), M X,
X2 +32 — 2xy =97 72 AL (x —yP2 =25
Ell X—-y=45 .. ()
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e (1) 3R (5) ¥, &5 W B @
x=9, y=4 =4 x—y=5
a x=4, y=9 =4 x—y=-5
3Td: I9 < ST 4 q 9 T

SETETUT 15 AR TR FE x,, x,, .x, B @), W TG ST SR o Th KOS A
YA W@ ©, a1 i@t f yeRor stafEfdd @l

T UM A UEUIx, X, .. BT WIS X T, A ST TELT
I ¢ —
0, == (x,~X)*gm e v 31
n =

afg YF YT H ¢ ST WU Al T YeIor B
y,=xta .. (1)
T AT TT Yeao K1 WA y 7 A

e y= X+a . (2)

n

1 _
0 =7 20"y =—3 (x+a= X-a) ()it F I H)

3Td: T YeTul T IO T T S oA TeTOi kT el
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w1 ST fo Jeolt ok fonelt we o yode el ® i U we sied
ST T W YEUT SUREhid @l

SETETOT 16 e femneff 4 100 Y&l w1 w57 40 3R 9 fo=e 5.1 9 foran, St
I Tl W YR 40 o TIE W 50 o T o WEl "ied SR qee e e 2?

7o fean €, Jerml =t "@ (n) = 100
Teld HiEA (X ) =40,
Teld AFe foa=ae™ (o) =5.1

I
T WA % & x:;in
i=1
1 100 100
a1 40=—0dx 2% = 4000
100 45 par
CRIGY H&OTl 1 TeTd F = 4000
d; YeIuT T Tl I = TeAd AT —50 +40
= 4000 — 50 + 40 = 3990
e I 3990
TgfeaT ey = = =399
w 100 100
oY & A faged o =
1
a1eft 5.0=|—xT@@ > x’-(40)’
100 =
1 S
Rl 26.01 = —— xTdd le- — 1600
100

zaferg Terd > x,” =100 (26.01 + 1600) = 162601

i=l
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n 2 n 2
e TE DN =T DX —(50)2+ (40)
i=1 i=1

=162601 — 2500 + 1600 = 161701
T wel A fa=es

:\/gﬁ zxiz _ (gﬁmw)z

n

161701 ,
= - (39.9)
100

= |/1617.01-1592.01 =25 =5

e 13 U¥ fafaer goracit

1. 3713 YeTon sl HILA 9 FELOT ShASl: 9 31X 9.25 €1 A 378 § : Y& 6, 7, 10,
12, 12 @R 13 €, @ 99 T Y107 @ wifew

2. I UL BT HIEA AU FEHLUl ShEST: 8 AUl 16 € AR T W " Yerur 2, 4, 10,
12, 14 B @ 919 < YeIur 10 wifer)

3. B: YeIUll 1 WA q W oo HEl: 8 9 4 1 AR YA YeTo1 i A
TN R T ST @ R Yeror o1 Wiem 9 "k fa=ed A Sl

4. A &0 x,x,, ..x F A x T TR o* E A g Hiow R e ax,
ax,, ax,, ..., ax, T HIeA N GO HHY: ax ql azcz(a¢0)§|

5. o9 Yerll o1 WieA qe ek foreer A 10 G 2 €1 Si" i W FE U T
o Uaro1 8 Totd €1 F1 W W w1 WE WieA qe Wk faee 9 shife afg
(i) TTerd YT gl = sy
(i) 39 12 9 o< fe=n Sy

6. 100 U&TOT 1 W& SR W forerer A 20 R 3 €1 % g8 w9
T WeTor 21, 21 T 18 TTerd | AR TTeTa Y&Iun bl g1 <1 |4 df /a9 Ak
forarer 9 ity
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HRTIT
YR st AT 3fihel | fawme a1 fa=mor &) a1 9fwR, =g fowem,
e faaed 9 AFE fa=ged Yo 1 |19 2
YRER = SAfRdH oI - FAdH qoI
riieRa 3Rl oAt ATea faere™

M.D. (%) =M M.D. (M)=M
n

SRl ¥ =" SR M = At

fieRa 3tiehgt @t uTea faerem

M.D. (X) =M M.D. (M) :M

,SRIN=Y" £,
TR SAThST hl TERUT T WHeh Tarerer

D WICES PN D YR}
ITAd ARSARAT S ohl YEIUT a7 Heh e

, 1 —\2 1 —\2

=N o dalm =) o= \/ﬁzfi(xi—x)
Hd ARENAT s ol WEIUT a7 Uk faereq

o= Th-F . o= (ND (T sn)
YT 3R Ues faee Jma s i oy fafy

2 h 2 2 h 2 2
o = F [NZﬁYi _(Zfiyz') :|, O-E\/NZfz“yi _(Zfiyi )

x;, —A
h

Sl ;=

¢ THH WA FIel JEensti | S " fauer arelt @ Afus 9 a1 S

fereror aredt Bt 2
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dfETiE gEYgTy

TifEThT 1 379 AfA TR “status’ T g1 & Traht 21¢f T ToTfash T el
21 TEY I ol @ o Wifersh! /e Wl A QU 21 s ad 30505,
H A o Tl SHTUET St TE off| IRd § off RIS 2000 Y UEE WemEfTE s
T F T HeTet Jonedt ol faea: =5 =2 (324-300 £9.) & T Hrd
H ifecd (T 300 $9,)ok A § S IR G o 3fihe ThHid w i
YTl <1 Sooid el 81 STeheR o IAehTel | foht T g9 Haeror s aofq
AAF 5N foAfad &ash STe-Thed | faan = )

We o %A John Graunt (1620-1675) i Seh g S IR g 1
GifAHT & eI o SR 3= o9 AR G Wil o1 S T S
Jacob Bernoulli (1654-1705) = 1713 H Geh1¥Td 379+ & Ars Conjectandi
TE W F o E fo #

Tifeet 1 Ygifad fowm Foes s & IRE Yol IR T 52 &
Togia o 9= o6 Wi geT qef $9eh 11 off faehr SR W1l W& 310 Francis
Galton (1822-1921) Sl W&l (Biometry) o &3 | Hiferent faft=i o
IYART T AW YA TRl Karl Pearson (1857-1936) 3 htg ol 90&1 ( Chi
square test) U oIS W WiREAHT T 1 TG o W1 WRSTHE LT
o T o 9gd aneE & 2

Sir Ronald a. Fisher (1890-1962) TS/ 3Tyf7eh Wifeasht o1 Seh AT Sl
2, 9 30 fafa= &l S9 ereifment, sta-witeent, fen, s enfe o e

4

 —



